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CHM 152/54 Exam1 100 Pts Fal 2003 Name: )< @%/
1. For the overall chemical reaction shown below, which one of the followmg statements can you
rightly assume?

2HyS(g) + O2(g) — 25(s) + 2H0(D

A. The reaction is second-order overall
B. The reaction is third-order overall
C. The rate law is, rate = k[H»S]2 [O2].
The rate law cannot be determined from the information given.
. The rate law is, rate = k[H2S] [O2].

2. The reaction A + 2B — products was found to follow the rate law: rate = k[AJ2[B]. Predict by
what factor the rate of reaction will increase when the concentration of A is doubled and the
concentration of B is tripled, and the temperature remains constant
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E. None of the above.

o N

3. The units for a first-order rate constant are
f T
g o= kA
A. 1/Mes I
B. 1/M2s M
(C. 17s s
D’% &
4. It takes 42 min for the concentration of a reactant in eaction to drop from 0.45M to
0.32M at 25°C. How long will it take for the reaction to be 90 lete?

A. 137 min B. 13 min C. 86 min E. 222 min
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5. Nitric oxide gas (NO) reacts with chlorine gas according to the equation
NO +%Ch — NOCL

The following initial rates of reaction have been measured for the given reagent concentrations.

Expt. # Rate (M/hr) NO M) CbM)
1 1.19 0.50 0.50
2 4.79 1.00 0.50
3 9.59 1.00 1.0

Which of the following is the rate law (rate equatlon) for this reaction? R Lo
For NO ¢ ExpR _ e - 4 (-‘-’VDJJ:%E,

A. rate = k[NO][Ch] Exp ! reks rets | /a D‘/DJ; ;&L—)F
B. rate = k[NO] /, ’ /y _
( C rae=k[NOP[Ch] D ‘?LTT = .w) &=0) jx =2

D. rate = k[NO][CL]V/2 For CZL 3 ; g, 77 /’ y
E. rate = kK[NOJ?[Ch]? 2. 9 ¥z Q [l) ;L /
6. At25°C, the rate constant for the first-order decomposition of a pesticide solution is
6.40 x 10-3 min~1. If the starting concentration of pesticide is 0.0314 M, what concentration will

remain afier 62.0 min at 25°C? DA, = Rt + I IA],

d 2

(_?_22;71;0;\40— " = '5‘/‘”’0 (62 M) + /&“L'&DM‘/
C. 2.68 x 102M

D. 47.4M MQ'“L[AL—* Q’gg77

E. 1.14x10-1M o gy . 0.0l M
7. A certain %st—order reactionA—)é g—% completem42rnmat 25°C. Whatis the half-life of
the reaction? .
A. 42 min B. 21mn 4/ C. 101 min D. 120 min E. 84 min
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8. Nitric oxide reacts with chlorine to form nitrosyl chloride, NOCL Use the following data to
— (% determine the rate equation for the reaction.

wtr= kv [a)*

NO + 1/2Ch — NOC]

.
N,

Expt. # [NO] [Ch] Initia] Rate
1 0.22 0.065 0.96 M/min
2 0.66 0.065 8.6 M/min
3 0.22 0.032 0.48 M/min

/. X > -
For NOE G= (3 3T XT A

B. rate = k[NO][Chb]V/2 | 4 |
C. rate = k[NO][Ch] 74;)/\ OLC?) A~ = (92) ' 92 = / |
D. rate = k[NOJ2[Ch]?

E. rate = k[NO]

9. The isomerization of cyclopropane to form propene

H,C — CHy
VO — CH3- CH=CH;CH,
CH>

is a first-order reaction. At 760 K, 15% of a sample of cyclopropane changes to propene n 6.8
min. What is the half-life of cyclopropane at 760 K?

/QM@'JS? Z;ﬁtf L L. e = 0. 0239

C. 3.4x 10-2 min /SRS . )
D. 230 min C, = = QLT mem
E. 23 min

10. The reaction 2NO2(g) — 2NO(g) + O2(g) is suspected to be second order in NO2. Which of
the following kinetic plots would be the most useful to prove whether or not the reaction is second
order?

A. aplotof [NO2J2 vs. t

@ a plot of [NO2J-1 vs. t
C. aplotofin [NO2J-lvs.t
D. aplot of In [NO3] vs. t
E. aplot of [NO7] vs. t
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11.

12. Based on the data given, what is the half-life of acetaldehyde?

13.

Use the following information to answer questions 11-12.
The thermal decomposition of acetaldehyde is a second-order reaction.

N o X
CH3CHO — CHy + CO ralz = QO\QC}& CHG)

The following data were obtained at 518°C. The initial pressure of CH3CHO is 364 mmHg.

\

time, 8 Pressure CH3CHO, mmHg M ”____f/___:,

42 330 5_7771  0,0036%

105 290 [ 0,0b34%%
720 132

9. gy 2® 0, 001575

Calculate the rate constant for the decomposition of acetaldehyde from the above data.
A. 2.2x10-¥s see grep s

B. 5.2 x 10-3/mmHg s

C. 0.70 mmHg/s

D. 2.2 x 10-3/mmHg s
6.7 X 10-%/mmHg s
L RApY

A. 305s B. 1.5x105s ( C 410s D. 520s E. 54x107s

The graphs below all refer to the same reaction. What is the order of this reaction?

1 [A] In [A]
A

1 Tt 1

A. second order . Zer er C. fist order

14. Which one of the following changes would alter the rate constant (k) for the reaction

2A + B — products?

increasing the temperature

B. measuring k again after the reaction has run for a while
E. the rate constant will not change

C. increasing the concentration of B

D. increasing the concentration of A
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_ % 15. IfE, for a certain biological reaction is 50 kJ/mol, by what factor (how many times) will the rate
of this reaction increase when body temperature increases from 37°C (normal) to 40°C (fever)?

| R Soxodgmt /| |
A. 1.0002 times A 55} T g (3|o\< 313

B. 2.0 x 105 times t N
1.20 times /p%_

D. 2.0 times /@Vx = = 0O, [% §§

E. 1.15 times t

}CA‘” - IrQ,O

% 16. The isomerization of methyl isocyanide (CH3NC).

CH3NC — CH3CN

follow& Frst-order kinetics:The half-ves were found to be 161 min at 199°C, and

12.5 min at 230°C. Calculate the activation energy for this reaction.

N3

A. 124 kJ/mol G = :—g——é

B. 31.4 kl/mol N S 4T -3

C. 6.17 x 10-3 kJ/mol » o = 0. 000 — = & 30¥ /o 7 e
(D163 kIfmol 17" el 2 .-

E. 78.2 ki/mol ) - __y__é_@_ - S: TY w/o /[rem

436 x%lo™3 _ Ca l _ [ \
o S A K (5’0? 777»/

Ea’: /éi7((7_/7\)”7
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Use the following information to answer questions 17-18.

Energy

Pm&,

Reaction Progress

17. For the chemical reaction system described by the diagram above, which staterrent is true?

e “A\ At equilibrium, the activation energy for the forward reaction is equal to the activation energy
-for the reverse reaction.
The activation energy for the forward reaction is greater than the activation energy for the
reverse reaction.
~ 6. The reverse reaction is exothermic.
e activation energy for the _@g@ reaction is greater than the activation energy for the
forward reaction.
E. The forward reaction is endothermic.

18. For the chemical reaction system described by the diagram above, which statement is true?

If the E, for the forward reaction is 25 kJ/mol, and the enthalpy of reaction is -95 kJ/mol, what 1s
E, for the reverse reaction?

A. -70 kJ/mol
B. 95 kJ/mol
C. 70 kJ/mol
20 kJ/mol
E. 25 kJ/mol

19. An increase in the temperature of the reactants causes an increase in the rate of reaction. The
begt explanation is: As the temperature increases,

A. the activation energy decreases.
B, the collision frequency increases.
@he fraction of collisions with total kinetic energy > E, increases.
. the concentration of reactants increases.
E. the activation energy increases.
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20. According to the collision theory, all collisions do not lead to reaction. Which choice gives both
reasons why all collisions between reactant molecules do not Jead to reaction?

1. The total energy of two colliding molecules is less than some minimum amount of energy.
2<Molecules cannot react with each other unless a catalyst is present.

3. Molecules that are improperly oriented during collision will not react.
4. Solids cannot react with gases.

i
A 2&3 B.3&4 C.1&2 (" D.1&3 E 1&4

21. The rate law for the reaction
H07 + 2Ht + 2I- — I + 2H,0

is rate = k[H202][I= ]. The following mechanism has been suggested.

* o=
Hy02 + I- — HOI + OH~ slow
_!:, -
OH- + H* - HyO fast

HOT+ H+ + - = I + Ho0 fast

Identify all intermediates included in this mechanism

A. Htand I-
(B) HOl and OH-
C. HyO and OH-
D. H+ and HOI
E. Ht only
22. The rate law for the reaction 2NO3 + O3 — N20s5 + O3 is rate = k[NO2][03]. Which one of
the following mechanisms is consistent with this rate law?

NO37 + O3 — NO3 + O3 (slow)
NO3 + NOy — N»2Os (fast)

B. NO, + O3 — NOs (fast)
NOs5 + NOs5 — N205 + 5/207 (slow)

C. NO37+ NO3z — N70O4 (fast)
N704 + O3 — N2Os5 + O3 (slow)

D. NO3 + NO3 = N202 + O (slow)
N7202 + O3 — N20Os5 (fast)
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23. Complete this statement: A catalyst

ters the reaction mechanism.

B. increases the activation energy.

C. increases the collision frequency of reactant molecules.
D. increases the average kinetic energy of the reactants.
E. increases the concentration of reactants.

24. Dinitrogen monoxide (N20) decomposes at 600°C according to the balanced equation

2N20(g) — 2N2(g) + O2(g)

A reaction mechanism involving three steps is shown below. Identify all of the catalysts in the
following mechanism

[

N2O(g) + Cl(g) — Nzgg) + ClO(g) (occurs twice)
CIO() + ClO(g) —Ch(R) + O2()

A. CIO

E. CIO and ClI

25. For the reaction represented below, the experimental rate law is given as follows: Rate = k
[(CH3)3CCl].

(CH3)3CCl(aq) + OH- — (CHj3)3COH(aqg) + CI

If some solid sodium hydroxide is added to a solution in which [(CH3)3CCI] = 0.01M and
[NaOH] = 0.10 M, which of the following would be true? (Assume the temperature and volume
remain constant.)

A. The reaction rate would increase but k would remain the same.
B. Both the reaction rate and k would decrease. .
C. The reaction rate would decrease but k would remain the same. 0 H’)

oth the reaction rate and k would increase. -+
ﬁ orde vk

oth the reaction rate and k would remain the same. , Zero
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